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1. Find the horizontal and vertical deflections at ¢ of the cantilever beam shown in Fig. 1. The load
is perpendicular to the beam. E= 4000ksi, I= 500in". (25%)
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2. Find the reactions at the supports for the continuous beam shown in Fig. 2, then draw the

moment diagram. EI is constant. (25%)
3. Determine the force in member bd of the truss shown in Fig. 3. EA is constant. (25%)
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4. Determine the reactions at the supports for the frame shown in Fig. 4, then draw the moment

diagram for each member. EI is constant. (25%)
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